Math 121 - Quiz 2 Name: > O0LUTLOMS.

(1) [5] Find the limit:
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(2) [10] Find an equation of the tangent line to the curve y = +/x at the point (1,1) . (Determine
any required derivatives using the definition of the derivative.)

/= (N\M :F(X-i-k) ~§(x) ,
J Lose - - A whee £ = Jx

W=e
.H-ek +\)->?

= lm L Gam- R) (J’@«-\B‘Z‘)
= .L:"“ A ﬁ@u%
Ao
~ J’X-(—\« ~+ &—‘

N

Lo ] ,
e el « Jx

—
o

I

~ cm————— -

&‘F)?
o ] \ ‘ / ’L
,.%rzﬁé'f@vg&fw"‘)?x:,”&\w'l
- Guetion § gedt e gl = 5 (%) ]

May 17 2012 p. 2 0of 2




